P-IC
Directions @ Answer the following questions by
selecting the correct [most appropriate option.

106. A teacher of Class III is presenting new
vocabulary to the learners. Which one of the
following is an effective way to present the
new vocabulary 7
(1) The teacher should give them a concise

definition of words.

(2) The teacher should try to explain a word's
meaning in the situation in which it
oceurs.

(3) The teacher should write its meaning on
the blackhoard and ask learners to learn

it by heart.

(4) The teacher should tell them the
antonyms of words and give the meaning

in their language. .

107. Learning a language is a matter of
(1) process
(2) product
(3) skdll

(4) acquisition

108. Choose the
example.

strategy that matches the

‘I focus on the language I use to make sure it is
correct.”

(1) Revising

(2) Self-monitoring
(3) Translanguaging
(4) Memorising

109. Students in Class IT sing a song, ‘Head and
shoulders, knees and toes’. They touch the
correct part of their body as they sing the

song, Which method is the teacher using to
teach them ?

(1) Communicative Language Teaching
(2) Total Physical Response
(3) Eclectic

(30)

{4) Audio-lingual

=
O

110. Match the ways of reading with what readersg
do:
Ways of What readers do
reading

They determine how
writers feel based on
how they write.

They use parts of the
text to help them
understand
unfamiliar lexis.
They loock at how
the information is
structured, by
noticing headings or

A, Predicting i

B. Inferring iL
attitude

C. Deducing 1.
. meaning
from context

introductory phrases.
D. Intensive iv.
reading

They focus on how

language is used in a

ummnm.o_m text.

E. Identifying v.
text

They use titles and
pictures  to

. give
organisation themselves ideas
about what the text

is about.

(1) A-i, B-iv, C-v, D-1i, E-iii
- (2) A-ii, B-i, C-iii, D-iv, B-v
(3) A-iv, B-iii, C-ii, D1, E-y
(4)  A-v, B-i, C-ii, D-iv, E-iii

A m_m_.am.ug work in groups to answer five
questions about vocabulary from the previous
unit. Then, they exchange _ﬁ.ﬁmnobm with
EE?.Q group and 5_.. S nums__nn the
questions. This is an example of :

(1) Feedback
(2) Reading assessment
(3) Peer assessment

(4) Self-assessment

B

112.

113.

114.

115.

(31)

T like it when the teacher gives me a card with

a word or phrase on it and I have to act it out

for the rest of the class so that they guess the

word.

Find the learners’

learners’ preferences listed below:

(1) I remember language well when I hear it.

(2) 1 remember language well when I
memorise the phrase from the card.

(3) I remember language well when I am
kinesthetically involved.

(4) Iremember language well when I see it.

comments with the

Read the following statements and choose the

correct option :

Assertion (A) :

All children who enter school are competent

language users according to their age.

Reason (R) :

Due to language and cultural diversity, they

are unable to demonstrate their abilities.

(1) Both (A) and'(R) are true, but (R) is
not the correct explanation of (A).

(2) (A)is true, but (R) is false.

(3) (A)is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A).

Manjeet of Class V speaks in different ways
to his teacher, to his friends and also to a
two-year-old child. It means Manjeet knows
how to use language in social situations. What
is this attribute of a language known as ?

(1) Semantics

(2) Pragmatics

(3) Act of speech

(4) Naturalist .
A mother notices that her child sometimes
says things that she has never heard adults or
her siblings say. She is confused, as she
believes that the child learns language by
imitating people in her family and immediate
surroundings. Her belief resonates with :
(1) Behaviourism

@ Constructivism

(3) Multilingualism

P-I/C

116. The set of skills that develop before children
begin formal reading instruction and which
provide the foundation for later academic
skills is :

&7 Emergent curriculum

(2) Emergent properties

(3) Emergent literacy

(4) Emergent solution

117. A grandmother loves to read out stories {rom
books to young children at home and, in this
way, exposes them to books and new ideas,
and the children are actively engaged in this
process. This technique is known as :

1)/ Shared reading

(2) Dialogic reading

(3) Aloud reading

(4) Model reading

118. An approach to teaching reading that starts

with basic elements like letters and phonemes

and teaches children that phonemes can be

combined™into words before moving on to

reading as a whole is : ENRE L T T

(1) Bottom-up approach

(2) Whole language approach

”M\mﬂﬂunn&.& approach

\ Top-down approach

119. Read the following statements and chaose the

correct option :

Assertion (A) ;

Use of phonetic spelling slows down the ability

to learn to spell correctly.

Reason (R) :

When young children use spellings that they

Snvented' rather than conventional spellings,

it does not slow down their ability to learn to

spell correctly.

(1) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(2) (A)is true, but (R) is false.

(3) (A)is false, but (R) is true.

{4>"Both (A) and (R) are true and (R) is the
correct explanation of (A).

120. In learning a new language, many students
often lack confidence when speaking due to
the language's unique pronunciation rules:
Ocum\mxeww.g overcomethis problem isby :

using game-like activities that require
verbal interactio I

(4) Nativism
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88. Consider the following statements about | B8. %Wﬂ?mﬁﬁiﬂﬂu o @Wﬂ%ﬂ

snakes and identify the -.anuﬁwﬁ.a.n one from

the following : (1) %%W%iﬁ%m w
(1) Poisonous snakes have fangs. ;
A b (2) 7T R ) SR T |
-(2Y” They chew up their prey. y
(3) They swallow their food whole. (3) o3I Eﬂﬂ%ﬂﬂvm.wmﬁ T T € |
{ * ,
(4) Snakes have sharp teeth. s} %Wﬂd%%_@m_ omﬁ&w&.mﬁmm should answer @G@mﬂwOHﬂm
( . 5
from the following Part only if they
89. Bronze is an alloy made by melting the go. T QWS e Eﬁd._ﬂw e fafafea § o Tm.dm OHUHQQ. M.OH. mzm._.LHmm as
Stmng ; R e s S R 2 GUAGE -1
(1) Aluminium and zine A H.Ruvz *
(1) U o7
.ﬂw\.u\.w_n and tin B e _
(2) =
{3) Tin and copper .w_ﬂnmnﬂ—‘l@d T M.l. .W_.MUAJ W.lu 3L
(4) Copper and zinc () fe st .ﬂu@.mm._.mm < . £ H mﬂ_.
W ww s s Hae aft & afg IEH W
| L faered st I 2 |
90. Select the correct statements about elephants s
from the follolwing : 90. Eﬂ?@mm@mﬂ@ﬁ#wﬂ%mﬁ%ﬂﬁ%ﬂ
A. A three-month-old baby elephant A o 9 F weft & a2 F7 399 g
generally weighs about 100 kg. AT 100 eI BT R | L
-B:7 An adult elephant can eat more than B. 9u&h ®reft us @9 o 200 e &
200 kg of leaves and twigs in one day, E@ﬂ%%%ﬂ.ggm |
C. m_muwgﬁ do not rest very much; they C. m%mmm%mﬁdﬂuﬂﬁwm wwﬂm
sleep for only two to four hours in a day. .rvs@. ﬂ.ﬂﬂdw.mw .mw_w.w | _
~.D. Elephants like to play with mud and D ﬂmﬁ.%ﬂﬂ@&ﬂi@@m
water, i . ﬁw_.m_
(1) AandC @ Asfke
(2) CandD @ c3hkp
@7 BandD 3) B3mD
(4) AandB 4) ANB
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_ ﬁq.& the following is ‘sticky rice’ and | 84.
mmon variety of rice in Assam 7

Ei »ﬁ&ﬁw HunmnuuF 85.
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true 7 g -
(1) A rhombus becomes a square if all its = ﬁnﬂﬂﬂ*g%ﬂdﬂ.@‘&

Erfeacuic ol i dl
angles are equal. e et
(2) A parallelogram becomes a rectangle if all 2) ke o THR .mwmﬂ F Wit Fm T
~its angles are equal. i, 1 98 T Fa AR
(3) A kite becomes a rectangle if its opposite (3) AR UF T F WHG F T A, A TR
B Mﬁ_a EJS:er i T FEA A AR |
s rectangle mes a square i its E o & ;
~_ sides are equal. ) ﬂﬂﬂ”ﬂ“ %ﬂ—ﬂ wA, T A, A
What is the missing number in the pattern ..##._NA nﬂa.ﬂ.ﬂﬂ e
H..o .m. Hm. — ﬁm- m.m. mu
a 32
(2) 25

__Bnre - Number of Students

b . i




to Hn_c and the same | 49-
100, The sum of
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47. Who among the following has worked in the
field of mathematical astronomy ?
(1) Ramanujan
(2) Mahavira
(3) Aryabhatta
{(4) Bhaskara I
38. A vegetable seller was selling spinach for
7 60 per kg. Sonu purchased 350 g of spinach
for which the vegetable seller took
F21(T6+T6H + T6 + T3) from Sonu.
Which of the following statements is/are true
regarding the mathematical skills used by the
vegetable seller ?
A. This mathematical skill is ambiguous.
B. This skill is not wuseful to solve
mathematical problems in class,
C. Such skills help in developing alternate
strategies for solving mathematical
problems.
Choose the correct option :
(1) Only B
(2) OnlyC
(3) AandB
(4) Only A

39, Which of the following' depicts a situstion]
39.

where children are constructing knowledge on
their own ?

(1) Children are given manipulatives like
number grids, tokens arranged in
rectangular arrays and they are exploring
multiplication patierns using them.
Teacher has  written  incomplete
multiplication tables on blackboard and
children are completing the tables by
writing them on blackboard.

The best student in the class reads aloud
the multiplication tables and rest of the
students repeat after him/her.

Children are reciting multiplication

(2)

.ﬁv

(12)

97. P & & feaa nfordt @rier-fEEm

¥

tables in a chorus.

B
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41.

Which of the following statements is
correct about assessment ?
(1) Criterion-referenced assessment is useful

2%.\22.5.3?3:3& assessment tells us

(13) P-UC

not|40. #FFeR F AN ° FetafEs @ 8 AR F99
AR 22

(1) AHE=S-EENE AEeE =S ThE ST

in diagnostic testing and remedial

teaching. =TT farEr o 3t # |

i A w=ee 0 s i i
e 8 T2l @Ed ¥ |
ST (3TE & 39ri @ |
m?m&ﬂﬂm.ﬂ.ﬂﬁﬂﬂw_
FTARI -

(3 HTE TR S w e |
(2 AT (1A e 2 |
~@) e o AR T E

(4) Tem W= ¥ S e des ¥ e
£ aEEs e g

A T EE R e Hl R

B, T AR A R g AR |
c FRp@bfmsATEEdel
D, T e A & A |

uz2)
/ where a student stands as compared to

other students in his/her performance.
Norm-referenced assessment is useful in
diagnostic testing and remedial teaching.
Criterion-referenced assessment is to
evaluate the mastery learning of the
students.

(3) (3)

) (4)

Concepts like more-less, long-short, far-near,

big-small, etc. are :

(1) Simply English language adjectives.

(2) Important pre-number concepts.

(3) Vague terms for comparison.

(4) Antonyms, not Tmecessary for learning
mathematics.

Mathematical learning material : 42.

A helps teachers in demonstrating the
formulae.

8" helps students in self-learning.

C. helps teachers in providing instructions.

D develops learning environment in the

class. e F 2 |
Choose the correct option : T2 fhed m%wd :
(1) BandD nﬁ\.\muﬂad
@ BanaC y o
_ (3) C3WD
4) Aand B
L , (4) ASRB

Which of the following statements is not| .  Coofufa < 5 e 22 ,

correct ? \ ¥ _wﬂ % S

(1 Errors in mathematics help teachers in (1) %ﬂwﬂmﬂw_mﬁ_ m._.mwd RIERL
planning their lessons. F1 H Haa .HHJA“: L y

@\ﬂﬂdﬂ of the students should be (2) E@q@ﬁ%ﬁwﬁmﬁ %ﬂ#ﬂ@ﬁ;ﬂﬂ%
qquiﬂo#u& as pointing errors will 5 %ﬂ £ 3R I I TR
demotivate them. : : S o

(3) Errors of the students give information @ Frahh # Pt % G A IBE

A" about their thought process. e L A% E|

1 ) %mm@i%ﬁwﬂﬂ%m_

(4 Errors in mathematics are
i o e A E L

SPACE FOR ROUGH WORK | T T Te W
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ches have shown that most of | 34. mﬂm_._.& n.w.m ﬁ.mﬂﬂmw 2 &?ﬂﬁ.— feremeff o

anrmﬂwaau more diffieult

sllowing mﬂmna of the
adds to this fear 7

number of different|
solve a problem in

of primary concepts

dge base of mathematics

7t wUwET, 2005 F , e
T mMmmq%%%a

researches have
mmdﬁ._.-.wd.un of




- 5 ;

27. One of the main characteristics of|27. &uﬂaﬂyﬁﬁzﬂkﬂwﬂﬂm@ﬁ%_mﬂ

(9)

pre-operational thought according to Jean
gw is - which refers to the
Enmnunw to focus on one aspect of a situation
‘and neglect others,

(1) Decentration
(2) Transduction
(3) Causation

(4) Centration

28. m.rwﬂnp nno num development follow the

principles of

1 (top-down); cephalocaudal
)

&mwiuﬂngﬂ ﬁaﬂuum to complex);

P-1/C
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18. Four-year-old Aparna says that a button is

19. Which of the following is a typical

P-IC

16. As per Lev Vygotsky, plays

significant role in the development of

conceptual abilities among children.
¥ Social isolation N
(2) Standardized curriculum
{3) Tangible rewards
(4) Peer collaboration

17. According to Lev Vygotsky's theory, inner

speech :
®H is a sign of developmental delay.

#2)}~"is a way for children to regulate their own

E« 1 -

(3) is a way for children to communicate with

an imaginary friend.
(4 is a sign of cognitive immaturity.

alive because it helps tie her shirt together.
According to Jean Piaget, her thinking is
characterized by :

(1) Centration

(2) Hypothetical-deductive thinking
(3) Transductive reasoning

(4] Animistic thinking

o

characterstic of students having autism ?

(6)

19.

(1) Frequent repetitive and recurring| .

Yebasin i
(2) Higher level of communication skills

(3) m:ﬁn_.:ﬁng__@ of differentiating fiction
from fact

(4) Advanced &ocio-emotional reciprocity ~

17.

HFeaATHE ATt %m_ﬂa
sifiverT Fma @ |

(1) g e
(2" HIEhITd TISTHH

(3) A
(4) EHH gEan
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21.

" (2) (A)is true, but (R) is false.

)9, Experiential learning stresses on :

o

_

i i

| and engagement of all children

.F {7

ich of the following is an effective method
enhance problem-solving skills in children ?

wu _u_.ofﬁ__nvEnaﬁ:r..mp.._wﬂmnm
solutions to problems o
Giving them a_u_uoﬁca.smw to brainstorm
and make intuitive guesses
Discouraging independent thinking and

-

2)
(3)
| focusing on declarative knowledge |
4) Encouraging them to avoid difficult

problems __

Read the following statements and choose the

¢orrect option : 1.

Assertion (A) :
eachers should create a meaningful
“environment which seeks active participation

&

Reason (R) :

AL children are intrinsically motivated to
r.w:._ and are capable of learning.

(1) Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A).

(1) importance of critical reflection:=

(2) learning as a product rather than a
process. 2

(3) control of teacher on the _QE,Bum of
children. s

(4) the role of reinforcement in learning.

‘Which of the following  process
does not contribute to the course of learning ?

(1) Conceptualization

(2) Decontextualization
(3) Organization ;
(4) Categorization

22.
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(1) 3¢ OuEATHA] 1 G40 HETIR 30SeH FOET
ST =T
TSUTTENS ST 1T ST FHigd F1
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(5)

2. | The primary goal of learning should be : 12.

(1) competing with peers, ~

(2) development of eritical thinking.

(3) memorization of facts-

(4) becoming excellent at rote rehearsal. ,

Jariability in learning styles of students :
(1) should not be taken into consideration
during teaching-learning process.
(2) should be seen as a barrier and hindrance
to teaching-learning process. r
(3) should be valued and seen as a reflection
of human diversity,
(4) should be ignored and attempts should be
made to bring uniformity in learning
styles.

Read the following statements and choose the
correct option ;. :

13.

_ P-1C
frfafias & 7 st 1 wafis o FE-A

(3) TEMETEAT
(4) A AT A F AT B I A
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PARTI / W1 I
CHILD DEVELOPMENT AND PEDAGOGY / & s @ fremme

Directions : Answer the following questions by
selecting the correct/most appropriate option.

1. Which of the following is: an example of a
question that requires students to reflect on
their own thinking ?

(1) How do you change & verb 3 the present
tense ?

(2) How has your thinking about the use of
verbs changed since the beginning of the
class ?

(3) What is the relationship between nouns
and verbs in a sentence ?

(4) What is the definition of a verb ?

Which of the following is an example of an

internal attribution for failure ?

(1) 1 didn't get good marks because the
teacher was biased.

(2) 1T failed the test because my friends were
distracting me.

(3) I. received a low grade because the
teacher is a tough grader.

(4) 1 failed the test because I didn't study
enough.

Read the following statements and choose the

correct option :

Assertion (4) :

At a very early age, girls in most cultures

across the world choose dolls as toys while

boys prefer to play with cars.

Reason (R) :

Children organize information about what is

considered appropriate for a boy or a girl on

the basis of what a particular culture expects

and behave accordingly,

(1) Both (A) and (R) are true, but (R) is not
the correct explanation of (A),

(2) (A)is true, but (R)is false.

(3) Both (A) and (R) are false.

(4) Both (A) and (R) are true and (R) is _.rm

3fm s SR |

1. Gl & & #5oar ua U8 g 7 38
e Tt @ S99 T faEn w3
AT R 2
(1) Mﬁgﬂmﬁﬁﬁmmy@mﬂi m
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SR =7 O JaTE & 7

(1) TTerE % TeAT §H 3 T HY S 3 ’
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e sne A €|
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]
i
A mﬁ@@mi&mﬂ%#_@dxﬂ\ﬁxﬂ

correct explanation of (A).

TR |

.

(39
At which age can children engage in word play _.A.
and like jokes and riddles that involve a play

on words ?

(1) Three years _

E.m?::w,mm;
(3) Twelve years

(4) One year _

Carol Gilligan has critigued Kohlberg's :.m:&._ B,

of moral development :

(1) for not giving adequate importance to
genetic factors.

(2) for using case study as the research
method.

(3) from & social cognitive perspective.

(4) from a feminist perspective.

What is the main goal of ‘assessment for

learning’ ?

(1) To provide feedback to students that can
be used to improve their learning

(2) To compare .mgn_.mn.» performance to a
standard or benchmark -,

(3) Ta identify

categorised as 'slow learners’ ~

students who can be

(4) To evaluate student performance and
assign grades ¥

While _ agencies of socialisation are
nammcnﬁ:mha:. important in  infancy,

agencies of socialization also
become important in early childhood.

(1) secondary; primary
(2) secondary; tertiary

(3) tertiary; secondary

(4) primary, gecondary
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